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OF=Eirtk(A) 16,142
@53 DER, GIVFE T 544 (B) 0
@I NDEAE T BSRWES(C) 0
BREEEZH (D) [(A)+(B)+(C)] 16,142
OFEZh 5=k (B) 893
FE ) [(D)+(B)] 17,035
EHRERI(E)/ (F) X100] 5.24%
OF LRV DA (G) 4
EOREE®RE(G) [(F)+(G)] 17,039
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OF=Eirtk(A) 16,491.999
@53 DER, GIVFE T 544 (B) 0.001
@I NDEAE T BSRWES(C) 0
BREEEZH (D) [(A)+(B)+(C)] 16,492
OFEZh 5=k (B) 546
FE ) [(D)+(B)] 17,038
EHRERI(E)/ (F) X100] 3.20%
OF LRV DA (G) 1
EOREE®RE(G) [(F)+(G)] 17,039
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OF=Eirtk(A) 16,769
@53 DER, GIVFE T 544 (B) 0
@I NDEAE T BSRWES(C) 0
BREEEZH (D) [(A)+(B)+(C)] 16,769
OFEZh 5=k (B) 200
FE ) [(D)+(B)] 17,025
EHRERI(E)/ (F) X100] 1.50%
OF LRV DA (G) 3
EOREE®RE(G) [(F)+(G)] 17,028




